


I'm not robot  reCAPTCHA

Continue

Application of laplace transform in mechanical engineering pdf

Integral transform useful in probability theory, physics, and engineering
In mathematics, the Laplace transform, named after its inventor Pierre-Simon Laplace (/ləˈpiːəl/), is an integral transform that converts a function of a real variable

t

{\displaystyle t}

 (often time) to a function of a complex variable

s

{\displaystyle s}

 (complex frequency). The transform has many applications in science and engineering and because it is a tool for solving differential equations. In particular, it transforms linear differential equations into algebraic equations and convolution into multiplication.[1][2][3] For suitable functions

f

,

{\displaystyle f,}

 the Laplace transform is the integral

L

{
f
}
(
s
)
=

∫

0

∞

f
(
t
)

e

−
s
t

d
t
.

{\displaystyle (\mathcal {L} \{f\})(s)=\int _{0}^{\infty }f(t)e^{-st}\,dt.}

 History
The Laplace transform is named after mathematician and astronomer Pierre-Simon Laplace, who used a similar transform in his work on probability theory.[4] Laplace wrote extensively about the use of generating functions in Essai philosophique sur les probabilités (1814), and the integral form of the Laplace transform evolved naturally as a result.[5] Laplace's use of generating functions was similar to what is now known as the z-transform, and he gave little attention to the continuous variable case which was discussed by Niels Henrik Abel.[6] The theory was further developed in the 19th and early 20th centuries by Mathias Lerch,[7] Oliver Heaviside,[8] and Thomas Bromwich.[9] The transform found widepread use in engineering and, since World War II, replaced the earlier Heaviside operational calculus. The advantages of the Laplace transform had been emphasized by Gustav Doetsch.[11] to whom the name Laplace Transform is apparently due. From 1744, Leonhard Euler investigated integrals of the form

z
=
∫
X
(
x
)
e
a
x

d
x

{\displaystyle z=\int X(x)e^{ax}\,dx}

 and

z
=
∫
X
(
x
)
A
x

d
x

{\displaystyle z=\int X(x)e^{ax}\,dx\quad (x\text{ and }x^{\dagger }\quad \text{and }x^{\ddagger }\quad \text{and }x^{\nabla }\quad \text{and }x^{\nabla })}

 as solutions of differential equations, but did not pursue the matter very far.[12] Joseph Louis Lagrange was an admirer of Euler and, in his work on integrating probability density functions, investigated expressions of the form

f
X
(
x
)
e
−
a
x

d
x

{\displaystyle \int X(x)e^{-ax}\,x\,dx.}

 which some modern historians have interpreted within modern Laplace transform theory.[13][14][clarification needed] These types of integrals seem first to have attracted Laplace's attention in 1782, where he was following in the spirit of Euler in using the integrals themselves as solutions of equations.[15] However, in 1785, Laplace took the critical step forward when, rather than simply looking for a solution in the form of an integral, he started to apply the transforms in the sense that was later to become popular. He used an integral of the form

∫

f
x
s
φ
(
x
)
d
x

{\displaystyle \int x^{s}\varphi (x)\,dx}

, akin to a Mellin transform, to transform the whole of a difference equation, in order to look for solutions of the transformed equation. He then went on to apply the Laplace transform in the same way and started to derive some of its properties, beginning to appreciate its potential power.[16] Laplace also recognised that Joseph Fourier's method of Fourier series for solving the diffusion equation could only apply to a limited region of space, because those solutions were periodic. In 1809, Laplace applied his transform to find solutions that diffused indefinitely in space.[17] Formal definition
The Laplace transform of a function

f
(
t
)

, defined for all real numbers

t
≥
0

, is the function

F
(
s
)

, which is a unilateral transform defined by

F
(
s
)
=

∫

0

∞

f
(
t
)

e

−
s
t

d
t

{\displaystyle F(s)=\int _{0}^{\infty }f(t)e^{-st}\,dt}

(Eq.1) where

s

 is a complex number, frequency parameter

s
=
σ
+
i
ω

{\displaystyle s=\sigma +i\omega }

, with real numbers

σ
 and

ω
. An alternate notation for the Laplace transform is

B

f

{\displaystyle (\mathcal {L})\{f\}}

 instead of

F
{\displaystyle F}

. The meaning of the functions of interest. A necessary condition for existence of the integral is that

f

 must be locally integrable on

[
0
,
∞

)

{\displaystyle [0,\infty)}

. For locally integrable functions that decay to infinity or to exponential type, the integral can be understood to be a (proper) Lebesgue integral. However, for many applications it is necessary to regard it as a conditionally convergent improper integral at

∞
. Still more generally, the integral can be understood in a weak sense, and this is dealt with below. One can define the Laplace transform of a finite Borel measure

μ
 by the Lebesgue integral[18]

L

[
μ
]
(
s
)
=

∫

0

∞

f
(
t
)

e

−
s
t

d
t

μ
(
s
)

{\displaystyle (\mathcal {L})\{\mu \}(s)=\int _{0}^{\infty }f(t)e^{-st}\,d\mu (t).}

 An important special case is where

μ
 is a probability measure, for example, the Dirac delta function. In operational calculus, the Laplace transform of a measure is often treated as though the measure came from a probability density function

f

. In that case, to avoid potential confusion, one often writes

L

[
f
]
(
s
)
=

∫

0

∞

f
(
t
)

e

−
s
t

d
t

{\displaystyle (\mathcal {L})\{f\}(s)=\int _{0}^{\infty }f(t)e^{-st}\,dt}

, where the lower limit of

0

 is shorthand notation for

lim

ε
→
0

+

∫

ε

∞

f
(
t
)

e

−
s
t

d
t

{\displaystyle \lim _{\varepsilon \rightarrow 0^{+}}\int _{\varepsilon }^{\infty }f(t)\,dt}

. This limit emphasizes that any point mass located at

0

 is entirely captured by the Laplace transform. Although with the Lebesgue integral, it is not necessary to take such a limit, it does appear more naturally in connection with the Laplace–Stieltjes transform. Bilateral Laplace transform
Main article: Two-sided Laplace transform
When one says "the Laplace transform" without qualification, the unilateral or one-sided transform is usually intended. The Laplace transform can be alternatively defined as the bilateral Laplace transform, or two-sided Laplace transform, by extending the limits of integration to be the entire real axis. If that is done, the common unilateral transform simply becomes a special case of the bilateral transform, where the definition of the function being transformed is multiplied by the Heaviside step function. The bilateral Laplace transform

F
(
s
)

 is defined as follows:

F
(
s
)
=

∫

−
∞

∞

f
(
t
)

e

−
s
t

d
t

{\displaystyle F(s)=\int _{-\infty }^{\infty }f(t)e^{-st}\,dt}

(Eq.2) An alternate notation for the bilateral Laplace transform is

B

f

{\displaystyle (\mathcal {B})\{f\}}

 instead of

F
{\displaystyle F}

. Inverse Laplace transform
Main article: Inverse Laplace transform
Two integrable functions have the same Laplace transform if they differ on a set of Lebesgue measure zero. This means that, on the range of the transform, there is an inverse transform. In fact, besides integrable functions, the Laplace transform is a one-to-one mapping from one function space into another in many other function spaces as well, although there is usually no easy characterization of the range. Typical function spaces in which this is true include the spaces of bounded continuous functions, the space

L

∞

(
0
,
∞

)

, or more generally tempered distributions on

(
0
,
∞

)

. The Laplace transform is also defined and injective for suitable spaces of tempered distributions. In these cases, the image of the Laplace transform lives in a space of analytic functions in the region of convergence. The inverse Laplace transform is given by the following complex integral, which is known by various names (the Bromwich integral, the Fourier–Mellin integral, and Mellin's inverse formula):

f
(
t
)
=

L

−
1

{
F
(
s
)
}

=

L

−
1

∫

γ
−
i
∞

∫

γ
+
i
∞

F
(
s
)

e

s
t

d
s

{\displaystyle f(t)=(\mathcal {L})^{-1}\{F(t)\}=(\operatorname {frac} {1}{2\pi i})\int _{\gamma -i\infty }^{\gamma +i\infty }F(s)e^{st}\,ds}

(Eq.3) where

γ
 is a real number such that the contour path of integration is in the region of convergence of

F
(
s
)

. In most applications, the contour can be closed, allowing the use of the residue theorem. An alternative formula for the inverse Laplace transform is given by Post's inversion formula. The limit here is interpreted in the weak* topology. In practice, it is typically more convenient to decompose a Laplace transform into known transforms of functions obtained from a table, and construct the inverse by inspection. Probability theory
In pure and applied probability, the Laplace transform is defined as an expected value. If

X

 is a random variable with probability density function

f

, then the Laplace transform of

f

 is given by the expectation

L

[
f
]
(
s
)
=

∫

0

∞

e

−
s
X

f
(
x
)
d
x

{\displaystyle (\mathcal {L})\{f\}(s)=\operatorname {E} \left[e^{-sX}\right]}

. By convention, this is the Laplace transform of the random variable

X

 itself. Here, replacing

s

 by

−
t

 gives the moment generating function of

X

. The Laplace transform has applications throughout probability theory, including first passage times of stochastic processes such as Markov chains, and renewal theory. Of particular use is the ability to recover the cumulative distribution function of a continuous random variable

X

, by means of the Laplace transform as follows:[19]

F
(
t
)
=

∫

0

t

f
(
s
)

d
s

{\displaystyle F(t)=\int _{0}^{t}f(s)\,ds}

 (Eq.4)
(1)

f
(
t
)
=
−

∂

∂
t

F
(
t
)

{\displaystyle f(t)=-\partial _{t}F(t)}

 (2)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (3)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (4)
(5)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (6)
(6)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (7)
(7)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (8)
(8)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (9)
(9)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (10)
(10)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (11)
(11)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (12)
(12)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (13)
(13)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (14)
(14)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (15)
(15)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (16)
(16)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (17)
(17)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (18)
(18)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (19)
(19)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (20)
(20)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (21)
(21)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (22)
(22)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (23)
(23)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (24)
(24)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (25)
(25)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (26)
(26)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (27)
(27)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (28)
(28)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (29)
(29)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (30)
(30)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (31)
(31)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (32)
(32)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (33)
(33)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (34)
(34)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (35)
(35)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (36)
(36)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (37)
(37)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (38)
(38)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (39)
(39)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (40)
(40)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (41)
(41)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (42)
(42)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (43)
(43)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (44)
(44)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (45)
(45)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (46)
(46)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (47)
(47)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (48)
(48)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (49)
(49)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (50)
(50)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (51)
(51)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (52)
(52)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (53)
(53)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (54)
(54)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (55)
(55)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (56)
(56)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (57)
(57)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (58)
(58)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (59)
(59)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (60)
(60)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (61)
(61)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (62)
(62)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (63)
(63)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (64)
(64)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (65)
(65)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (66)
(66)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (67)
(67)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (68)
(68)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (69)
(69)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (70)
(70)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (71)
(71)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (72)
(72)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (73)
(73)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (74)
(74)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (75)
(75)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (76)
(76)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (77)
(77)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (78)
(78)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (79)
(79)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (80)
(80)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (81)
(81)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (82)
(82)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (83)
(83)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (84)
(84)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (85)
(85)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (86)
(86)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (87)
(87)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (88)
(88)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-\partial _{t}\int _{0}^{t}f(s)\,ds}

 (89)
(89)

f
(
t
)
=
−

∂

∂
t

∫

0

t

f
(
s
)

d
s

{\displaystyle f(t)=-